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Which of the following software applications would be most appropriate for 
performing Statistical and Numerical calculations:

निम्िलिखित में से कौि सा सॉफ़्टवेयर अिुप्रयोग साांख्ययकीय और सांययात्मक 
गणिा करिे के लिए सबसे उपयुक्त होगा:

1) Document Processor

2) Graphics Package

3) Power Point

4) Spreadsheet

5) Meta Processor



In Word, what is the shortcut key for Replace option :

MS Word में, ररप्िेस ववकल्प के लिए शॉटटकट कुां जी क्या है:

a) Ctrl+G
b) Ctrl+H
c) Ctrl+I
d) Ctrl+B
e) None of these



What is the full form of RISC?

RISC का पूणट रूप क्या होता है?

a) Reduced Instruction Set Computing

b) Reformed Instruction System Computing

c) Reduced Information System Computing

d) Restoration of Information in System Computing

e) Reduced Instruction Sect Code



Which of the following program blocks computer system until some money 
is paid?

निम्िलिखित में से कौि सा प्रोग्राम कां प्यूटर लसस्टम को ब्िॉक करता है 
जब तक कक कुछ पैसे का भुगताि िह ां ककया जाता है?

1) Freeware

2) Ransom ware

3) Shareware

4) Adware

5) None of them is true



What is Windows Vista? 

ववांडोज ववस्टा क्या है ?

1) Processor 

2) Output Device 

3) Storage Device 

4) Input Device 

5) Operating System 



Which of the following is not an Operating system? 

 इिमे से कौि सा ववकल्प ऑपरेटटांग लसस्टम िह ां है ?

1. Windows XP

2. MAC OS

3. Android

4. Java 

5. None of These



An error in computer program is called ___________?

कम्प्युटर प्रोग्राम में त्रुटट को ______ कहा जाता है 

1. Bug

2. Crash

3. Debug

4. Virus

5. None of These 



Decimal Number System has base __________ ?

Decimal िांबर लसस्टम का बेस _________ होता है ?

1) 8

2) 6

3) 16

4) 2

5) 10



__________is a legal contract between a software application author or 
publisher and the user of that application.
____________एक सॉफ्टवेयर एख्प्िकेशि िेिक या प्रकाशक और उस
एख्प्िकेशि के उपयोगकताट के बीच एक कािूिी अिुबांध है।

1) EULA

2) LYNX

3) NOR

4) NAR

5) None of these



what is the full form of DOS?

DOS का पूणट रूप क्या होता है?

1) Disk opera system

2) Disk operating system

3) Double operating system

4) Disk opera sense

5) None of these 



In which Network topology all workstation (Client PC) are connected to 
central computer (Server)?

ककस िेटवकट  टोपोिॉजी में सभी वकट स्टेशि (क्िाइांट पीसी) सेंट्रि कां प्यूटर 
(सवटर) से जुडे होते हैं?

1. A Bus Topology

2. A Star Topology      

3. A Ring Topology

4. A Mesh Topology

5. None of these 



OSI stands for __________.

OSI का पूणट रूप क्या होता है 

1. Open Source Interconnection            

2. Open System Interconnection

3. Open Symmetric Interchange

4. None of these

5. All of these 



Which is used to protect network from outside attack?

ख्जसका प्रयोग िेटवकट  को बाहर  आक्रमण से बचािे के लिए ककया जाता है

1) Antivirus

2) Firewall

3) Disk Cleanup Utility

4) None of these

5) All of these 



Cryptography is the study of which type of information ?

कक्रप्टोग्राफी ककस प्रकार की सूचिा का अध्ययि है ? 

1. Hiding

2. Verification

3. Both of Above

4. None of These



How long is an IPv4 address?

IPv4 एड्रेस ककतिे bit का होता है?

1. 32 bits

2. 128 bytes

3. 64 bits

4. 128 bits 

5. None of these



Which is not a correct layer of network?

कौि सा िेटवकट  की सह  परत िह ां है?

1. Data Link Layer

2. Application Layer

3. Process Layer       

4. Session Layer

5. None of these 



(75)8 into    Binary    ?

(75)8 को Binary में पररवनत टत करो ?

1) 111101

2) 101110

3) 101001

4) 110101

5) None of these 



Error finding and correction in the program is known as?

कायटक्रम में त्रुटट और सुधार को ककस िाम से जािा जाता है?

1) Bug Finding

2) Debugging

3) Hacking

4) Correcting

5) None of these



A symbol on the screen that represents a disk, document or program that 
you can select ________.

स्क्रीि पर एक प्रतीक जो एक डडस्क, दस्तावेज़ या प्रोग्राम का प्रनतनिधधत्व 
करता है ख्जसे आप ________ कहते हैं।

(a) keys
(b) caps
(c) icon
(d) monitor
(e) None of these



When software is distributed free but requires the users to pay some 
amount for further use, it is called

जब सॉफ़्टवेयर मुफ्त में ववतररत ककया जाता है, िेककि उपयोगकताटओां को 
आगे उपयोग के लिए कुछ रालश का भुगताि करिे की आवश्यकता होती है, 
तो इसे ________कहा जाता है

a) freeware
b) Shareware
c) rental ware
d) public-domain software
e) None of these



What is the alternate name of LAN, which is in the family of wired LANs?

LAN का वैकख्ल्पक िाम क्या है, जो वायडट LANs के पररवार में है?

• Ethernet

• MAN

• WAN

• IEEE 802.3

• None of these



What does the acronym PDF stand for?

PDF का पूणट रूप क्या होता है ?

a) Portable Documenting File
b) Portable Documentation File
c) Portable Documentation Format
d) Portable Document Format
e) None of these



A language translator that analyses and executes the source code in line-
by- line manner without looking at the entire program is called a/an

 एक भाषा अिुवादक जो पूरे प्रोग्राम को देिे बबिा िाइि-बाय -िाइि 
तर के से सोसट कोड का ववश्िेषण और कक्रयाख्ववत करता है उसे 
_______कहा जाता है

(A) Commander
(B) Simulator
(C) Compiler
(D) Interpreter

(E) None of above



The key F12 opens a

 कुां जी F12 _______ िोिता है

A) Save As dialog box

B) Open dialog box

C) Save dialog box

D) Close dialog box

E) None of above



Which of the following is related with printer.

इिमे से कौि सा ववकल्प वप्रांटर से सांबख्वधत है 

1. Hertz

2. Nibble

3. Byte

4. CPS (Character Per Second)
5. None of These 



What is the full form of SSD ?

SSD का पूणट रूप क्या होता है

Solid Stage Drive

Solid State Drive       

Solution Stage Drive

Solution State Drive

None of These 



The computer that process both analog and digital is called __________ ?

वह कम्प्युटर जो अििॉग और डडख्जटि दोिों पर कायट करता है
__________ कहिाता है ?

Analog Computer

Digital Computer

Hybrid Computer         

Automatic Computer 

None of These 



Which of the following is the Slowest Memory?

इिमे से कौि सी सबसे धीमी मेमोर  होती है ?

1. Cache Memory 

2. RAM

3. ROM

4. HDD

5. Magnetic Tape



 ............. Is the functional key used to rename the file or folder in windows?

 ............. ववांडो में फाइि या फोल्डर का िाम बदििे के लिए उपयोग की 
जािे वाि  कायाटत्मक कुां जी है?

A. F5 

B. F1

C. F2 

D. F12

E. None of these 



 1 MB  is equal to how many Bytes (Approx.)
1 MB ककतिे बाइट्स (िगभग) के बराबर होता है।

1. One Billion 

2. One Million 

3. One Trillion 

4. One Quadrillion 

5. None of these 



 Which is the most popular medium for direct-access secondary storage of a 
computer?

 कां प्यूटर के डायरेक्ट-एक्सेस सेकें डर  स्टोरेज के लिए सबसे िोकवप्रय 
माध्यम कौि सा है? 

(A) ROM

(B) RAM

(C) Magnetic disk

(D) Magnetic tape

(E) None of these



Which of the following is not a type of key?

निम्िलिखित में से कौि एक प्रकार की कुां जी िह ां है?

1. Alphabetic Keys 

2. Numeric keys 

3. Function keys 

4. Toggle keys 

5. None of these



Features that displays only the data in column (s) according to specified 
criteria?
निटदटष्ट मािदांड के अिुसार कॉिम में केवि डेटा प्रदलशटत करिे वाि  
ववशेषताएां कौि सी है ?

1. Formula 

2. Filtering 

3. Sorting

4. Pivot

5. None of these 



Which of the following is not an operating system?

निम्िलिखित में से कौि ऑपरेटटांग लसस्टम िह ां है?

1) Windows 2000

2) DOS

3) LYNX

4) Mac Os X Lion

5) Windows 8 



Which of the following transmission directions listed is not a legitimate 
channel?

निम्िलिखित में से कौि सी सांचरण टदशाएां सूचीबद्ध हैं जो एक वैध चैिि 
िह ां है?

1) Simplex

2) Half Duplex

3) Full Duplex

4) Double Duplex

5) None of these 



The ____ address uniquely defines a host on the Internet.

________ पता ववलशष्ट रूप से इांटरिेट पर होस्ट को पररभावषत करता है।

1) physical

2) IP

3) port

4) Specific

5) None of these 



The speed of supercomputers is measured in 

सुपर कां प्यूटर की गनत को मापा जाता है

1) FLOPS

2) MIPS 

3) Hertz

4) BPS

5) None of these 



 Router operates in which layer of OSI Reference Model?

 राउटर OSI सांदभट मॉडि की ककस परत में सांचालित होता है?

A. Layer 1 (Physical Layer)
B. Layer 3 (Network Layer)
C. Layer 4 (Transport Layer)
D. Layer 7 (Application Layer)

E. None of these 



Identify the odd one out of the following terms stated below:

िीचे बताए गए शब्दों में से ववषम को पहचानिए: 

a) Hypertext

b) FTP

c) HTTP

d) SMTP

e) None of these 



A Programming language which is called machine independent is ------

 एक प्रोग्रालमांग भाषा ख्जसे मशीि स्वतांत्र भाषा कहा जाता है ------

1. Machine language

2. Assembly Language

3. Low Level Language

4. Natural Language

5. High Level Language



NIC full form ?

NIC का पूणट रूप क्या होता है ?

1. Network interface card

2. Network interconnect card 

3. Never interface card

4. Now interface card 

5. None of these 



How many Rows in excel?

 एक्सेि में ककतिे पांख्क्तयााँ होती है?

1) 65535

2) 1048567

3) 1048576

4) 16384

5) None of these



All formula start with, which sign in MS-Excel? 

सभी सूत्र एमएस-एक्सेि में ककस साइि के साथ शुरू होते हैं ?

1. +

2. -

3. @

4. =

5. ==



 A function inside another function is known as ?

 ककसी अवय फां क्शि के अांदर फां क्शि के रूप में जािा जाता है?

1. Round function

2. Sandwich function 

3. Switch function

4. Nested function

5. None of these 



Another name for a pre-programmed formula in Excel is

 Excel में पूवट-प्रोग्राम ककए गए सूत्र का दसूरा िाम है

1. Function 

2. Parameter

3. Theme 

4. Vlookup

5. Hlookup



 Typed text showed in active cell and also in ___

 टाइप ककया गया पाठ सकक्रय सेि में टदिाई देता है और ___ में भी टदिता 
है 

(A) Formula bar

(B) Ribbon

(C) Title bar

(D) Scroll bar

(E) None of these 



Workbook is a collection of _______?

 वकट बुक _______ का एक सांग्रह है?

(A) Worksheets

(B) Page set-up

(C) Buttons

(D) Diagrams

(E) None of these 

||



Find the Miss-Match.

 लमस-मैच को दूांटिए

1) Chrome - Google

2) Opera - Opera Software

3) Internet Explorer - Microsoft

4) Safari - Net Scape Communications

5) None of these



Personal computers use a number of chips mounted on a main circuit 
board. What is the common name for such boards?

पसटिि कां प्यूटर एक मुयय सककट ट बोडट पर िगे कई धचप्स का उपयोग करते 
हैं। ऐसे बोडों का सामावय िाम क्या है?

(A) Broad board

(B) Daughterboard

(C) Motherboard

(D) None of these

(E) None of these



 All computers must have __________
सभी कां प्यूटरों में _________ होिा अनिवायट है 

(A) A virus checking program

(B) An attached printer

(C) An operating system

(D) An attached Plotter 

(E) None of these



CD and DVD drives are the examples of

सीडी और डीवीडी ड्राइव _____ के उदाहरण हैं

(A) Printers

(B) Optical Storage devices

(C) Solid stage storage

(D) Zip drives

(E) None of these



Programs stored in ROM are called as

ROM में सांग्रह त कायटक्रमों को कहा जाता है

(A) Fireware

(B) Formware

(C) Farmware

(D) Firmware

(E) None of these



POP denotes

POP का पूणट रूप क्या होता है 

(A) Protocol on Protocol

(B) Popular Office Program

(C) Post Office Protocol

(D) Post Office program

(E) None of these



An online discussion group that allows direct live communication is known 
as

एक ऑििाइि चचाट समूह जो प्रत्यक्ष िाइव सांचार की अिुमनत देता है, 
______ के रूप में जािा जाता है

(A) E-mail

(B) Hyperlink

(C) Chat group

(D) Web crawler

(E) None of these



Generally to send data from a local computer to a remote computer on 
internet is called ____

आम तौर पर एक स्थािीय कां प्यूटर से इांटरिेट पर दरूस्थ कां प्यूटर पर डेटा 
भेजिे के प्रोसैस को ____ कहा जाता है

(A) Download

(B) Upload

(C) Editing

(D) E-mail

(E) None of these



A ________ can make it easier to play games.

_________ के द्वारा गेम िेििा आसाि होता है।

1. mouse

2. joystick

3. keyboard

4. pen

5. None of these



The name a user assigns to a document is called a

ककसी दस्तावेज़ में उपयोगकताट द्वारा निटदटष्ट िाम को ____ कहा जाता है

1. filename 

2. program 

3. record 

4. data

5. None of these 



Ctrl, Shift and Alt are called _________ keys. 

Ctrl, Shift और Alt को _________ कुां जी कहा जाता है।

1. Modifier 

2. Adjustment 

3. Function 

4. Alphanumeric 

5. None of these 



The task bar is located _______.

टास्क बार  _______ में ख्स्थत होता है।

a) On the start menu

b) At the bottom of the screen

c) On the quick Launch toolbar

d) At the top of the screen

e) None of these



Which of the following is not a web browser?

निम्िलिखित में से कौि सा वेब ब्राउज़र िह ां है?

a) Internet Explorer

b) Google Chrome

c) Twitter

d) Mozilla Firefox

e) Opera



A process known as _______is used by large retailers to study trends.

 ट्रेंड्स का अध्ययि करिे के लिए बडे िुदरा ववके्रताओां द्वारा _______ 
िामक एक प्रकक्रया का उपयोग ककया जाता है।

a) data mining

b) data selection

c) POST

d) data conversion

e) None of these



In magnetic disks, data is organized on the platter in a concentric sets of 
rings called:

 चुांबकीय डडस्क में, डेटा को ररांग के सांकें टित सेटों में प्िेट पर व्यवख्स्थत 
ककया जाता है:

(a) Sector
(b) Track
(c) Head
(d) Block
(e) None of these



Which of the following is a CUI based operating system?

निम्िलिखित में से कौि एक CUI आधाररत ऑपरेटटांग लसस्टम है?

a) MS-DOS

b) Windows 95

c) Windows XP

d) Windows 8

e) None of these



The base is the total number of digits in a number system?

 आधार एक सांयया प्रणाि  में अांकों की कुि सांयया है?

1) True

2) False

3) CND 

4) None of these 

5) All of these



RAM is considered volatile storage, which means it is_________ 

RAM को वोिाटाइि मेमोर  मािा जाता है, ख्जसका अथट है कक यह 
_________ है

1. random 

2. optional 

3. permanent 

4. read 

5. temporary 



In a Word document, _______ bar gives the information about the page 
number, number of pages etc.

ककसी वडट डॉक्यूमेंट में, _______ बार पेज िांबर, पेजों की सांयया आटद की 
जािकार  देता है।

a) Tool

b) Menu

c) Task

d) Title

e) Status



which of the following refers to restarting the system when it is already 
powered on?

निम्ि में से कौि सा लसस्टम को कफर से शुरू करिे के लिए सांदलभटत करता 
है जब यह पहिे से ह  सांचालित है?

1. a strong boot 

2. a warm boot 

3. a cold boot 

4. hibernation 

5. standby mode 



A computer has more than one processor then it is known as?

कां प्यूटर में एक से अधधक प्रोसेसर हैं तो इसे ककस िाम से जािा जाता है?

1. Uniprocess

2. Multiprocessor

3. Multithreaded

4. Multiprogramming

5. None of these 



What is included in an e-mail address?

ई-मेि पते में क्या शालमि है?

a) Domain name followed by user's name
b) User's name followed by domain name
c) User's name followed by postal address
d) User's name followed by street address
e) None of these



Who invented Java?

 जावा का आववष्कार ककसिे ककया था?

1. James Gosling

2. Thomas Edison 

3. Eugene Kurtz 

4. Blaise Pascal 

5. Charles Babbage



• In recent years, people can approach government department or offices 
through internet the mechanism is known as__________.

• हाि के वषों में, िोग इांटरिेट के माध्यम से सरकार  ववभाग या कायाटियों से 
सांपकट  कर सकते हैं, ख्जसे तांत्र __________ के रूप में जािा जाता है।

a) Internet Government
b) E-Governance
c) Web Government meeting
d) All of the above
e) None of these
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